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91. |M— % ¥ [i& % = £ #7575 3 ;£[5.66 , 2.406 0.003 FFp
3 g mg/m
(CICsH.C
H=CH,)

92. [AR—F ¥ |iz % = @& 97> j£5.18 2.202 0.003 wmHp
¥ (l-5-2 mg/m®
2-7 %)
(CICeH,C
Hs)

93. [&x &% |z % = i er5] 3 £0.02 0.009 1.1x10% | # p
(143) 2 mg/m®
(Cn

94. |- W4 = % = 6 o552 2001 0.004 5.5x10° |z # p
(2 mg/m?
s.30) [Cr
an

95. |= fgeie | % = @ #75] 3 ;2001  |0.004  [6.5x10° |5 # p
S (1 [ mg/m®
s3+) [Cr
(1ng

AN

¥

S

vl

e . T
s

(w,

EIRT R L S

oW TH R wY = by

N b
>
_ W
o
~

d 1780
mg/m?
(750 pp
m) i i
475
mg/m?
(200 pp
m) > &
o 7
&g
¥R
AR

(A/50) »
[P
9.5mg/
m? o

=
S =
iE A
=~ T8 =X
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96. |4 &g | % = iF “r 7] ;£[0.004 [0.002  [2.2x10° [ # p
FaEp 8 mg/m?
07. |6+ £/ [ % = i #r50> 2[0.001  [4.25x10 [5.5x107 [5 # p
WER mg/m?
B(
)
(ColCo0/
COon/COZ
0,)
08. [ &gk [ix % = i #r 5] = £[0.003 [0.001  [1.65x105 # p
LS B mg/m?
09. o » 46k [ % = i #1750 £[0.004 [0.002  [2.2x10° |5 # p
(Cu/Cu O/ & mg/m?®
CuO)
100 [ + #5 & [ % = o0 2002 (0009 [1.1x10° [ p
i [ mg/m®
(r14v3)
(CuSO..5
H,0/CuCl
)
10L.|4f B i % = #F575] > £[0.004  [0.002  [2.2x10° |5 # p
e mg/m*
102, 22| % = #2075 2011 [0.048  [6.27x10% # p
- i) [ mg/m’
(CchH:
CHCHO)
13|85 % [ - el a492 2000 (0003 [m# g
ﬁ 3
[CeHsCH( |3+ # mg/m
CHa):]
104.|7 pa(e | % - g ers - 2044|0187 [2.4x10* [ # p
EERR R N . o mg/m?
lia
#)(CHsC
6H,OH)
105.| v=(§ | % = 5712 2004 [0017  [2.2x10° [ # p
%) g mg/m?®
(HNCN)
106.[ it [ % = gerslo 201 (0043 [55x10° [ #p
3
(¥R [+2 mg/m
i) CN)
107 [z e [ % = Gersio 2082 (0349 [451xa0{w # p
(CeHuNH |3+ & mg/m?®
)
108.[me = [ % - o] 2206  [8755 (0011 s p
(CeH) |+ & mg/m?®
10| e i | % - s 2412|1751 [0.002  [m# p
(CeHuOH [+ & mg/m?®
)
10,5k & i |k % = 6% 557 5 22 085 0001 [##p
(CsHu,CO 3+ & mg/m?®

13




)

111.[1,3— % ~ iz & = w55 = 2/4.06  [1.726  [0.002 [# % p
B g mg/m®
(CsHo)

11207~ [ 5 = s ers) = 2[344 1462 0019 [ p
(CsHio) |3+ & mg/m?

113.12,4—% = % = & #7573 ;202 0.085 1.1x10% | # p
@4—= [+# mg/m?®
F¥5c
fik)
(CloCeHs
OCH,CO
OH)

114, (L ez | 5 = g or 5] = 32001 0.002  [2.75x109% % p
(BioH14) |3+ & mg/m’

115 s i 5 = s ers s 2476 [2023  [0.003  [## p
[(CH)C( |3+ & mg/m*
OH)CH,C
OCHs]

116.|< fi4> [ % = & #77] + ;2/0.0002 [8.5x10° |1.1x107 [# # p
[(CHJC |32 mg/m*
HC4N2H(
CH3)0]PS
(OC;Hs),]

117.[¢ § 7 % | % = s #7572 2[0.01  [0.003  [3.74x109% # p
(CHNy) [+ 8 mg/m*

118.[- mmoz | % = 6 97 5] 2 2(0.0022 [9.35x10* [1.21x109 % # p
(BoHe) |+ & mg/m?

119.pkpe = = | % = i 97 > j2(0.17 0.073 9.46x10% % # p

3

7 g mg/m
[(C4Hs0),
POOH]

120,048 % = @ |iz % = @£ 95 > j2(0.1 0.043 5.5x10° | # p
(N Y mg/m?
[CsH4(CO
OC4Hy),]

121. )= % & %[ % = % #7723 ;2)0.01 0.003 4.29x10% % # p
(CClh) |:+& mg/m?®

122.(#5— = & |i& % = @& 9753 j£/6.02 2.559 0.003 FHEp
¥ E mg/m
(CeH.Cl)

1235 — - & w5 - i ei700 20 13825 0005 [a g
3 2 mg/m
(CeH.Cl)

124.(- % = & |i& % = & 97 7] 3 ;2|99 , 42.08 0.054 wmHp
IS 2L mg/m
(CCI,Fy)

125.|11,3— = # [z % = % 7 7] > ;2/0.004 [0.002 2.2x10% | # p
—55—- | & mg/m®
v ;5]&14 S

2

14




PR
(CsHCl,
N205)
126.|111—= & [ % = i #77]> 28.1 3.443 0.004 #FHp
Tz B mg/m?3
(CHsCHC
1)
127.112— = & |z % = i #r 7] > ;2/15.86 [6.741 0.009 [+ p
o I g mg/m?®
(CICH=C
HCI)
128. |- % ¢ @i|ix % = 15 #77] > ;%/0.58 , 0.247 3.19x10 % # p
[(CICHC |3+ £ mg/m
H,),0]
129.1= % & 7 [ % = 5977 > ;%|0.84 0.357 4.62x10 3 # p
. g mg/m®
(CHCI;F)
130.|11,1— = # [i& % = i #7573 ;2/|0.24 0.102 1.32x10% % # p
—1-# [*£ mg/m?
Koz
[HsCC(Cl)
LNO;]
131.]112— = & [ % = 5 %77 > ;%/6.94 2.95 0.004 wmHp
N 3
R g mg/m
(CHsCHC
ICH,CI)
132.(1,3— = # |z % = & 7] > ;£/0.09 0.038 4.95x10% % # p
7 g mg/m®
(CHCI=C
HCH,CI)
133.[2,2— - | % = &= 5) > ;2|0.12  [0.049 6.38x10°% % # p
A 3
A o mg/m
(CHsCCl,
COOH)
134.[1,1,22— | % = i =75 ;£[139.8 [59.42  [0.077 [ # p
E g -12- [ mg/m?
Sl SR
(CCIF,CC
1F,)
135. |- A - |ix % = g a5 > ;2054 [0.23 2.97x104 % # p
" 3
% (CroHp)* £ mg/m
136.[= o Agoe|ie % = i #r5) = j2(026 [0.111 1.43x107% # p
[(HOCH; [+ ¢ mg/m?®
CH,),NH]
137.|- 2 = | % = i 97 5] > ;£[0.6 0.255 3.3x10* [ # p
[(CoHs):N |3+ £ mg/m?®
H]
138.12-- ¢ e |iz % = & o175 3 ;2(0.96 0.408 5.28x107% % p
Ao [ mg/m?
[(Csz)zN
CH,CH,0

15




H]

139.|- = ¢ A | % = i #r7) = ;008  |0.036  [4.62x109% # p
z o 21 g mg/m®
(NH,CoH,
NHC,HN
H,)

140.|= o @ |ix % = i o5 > (141 5.993 0.008 |z p
(CHsCO |+ mg/m?
CoHs)

141,38 %F = 7 |k % = £ #77] 3 #/0.1 0.043 5.5x10° | # p
s e i |38 mg/m®
[CeHa(CO
ZCZHS)Z]

142.|= - & | % = @7 = £(17.16  [7.293  [0.009  |## p
v ooz o mg/m?®
(CFzBrz)

143.|45°k 4 @ | % = §F #7 7 > 2001  |0.005  [5.83x10°|% # p
B e mg/m?®
(OCH,CH
CH,OCH;
CHCH,0)

144.|= B 7 p | % = E 45 £[2.9 1233 |0.002 [+ p
[(CHa)C 3 £ mg/m*
Ol

145.|= B fove|ie % = i 475 £[042 |0.179 [2.31x104% # p
[[(CHs).C|:* & mg/m®
H]2NH]

146.[N.N—= |iz & = @£ 77 2 ;2(072  |0.306  [3.96x10%|% # p
LI Y B mg/m?
s
[CH:CON
(CHy)o]

147 INN—= |z % = i #75) = ;%[05 0.213  [2.75x104% # p
e mg/m?
[CsHsN(C
Hs)o]

148.INN—= iz & = & #7 5] = ;2/0.6 0.255  [3.3x10* |# # p
LGN ) mg/m?®
s
[HCON(C
Ha).]

149. |48 % = @ iz % = i 977 3 j£[0.1 0.043  [6.5x10° | # p
[P ) mg/m®
[CoHa(CO
OCH;),]

150. |geph = @ |k % = i 9 7] > j2(0.01 0.004 5.72x10°% % # p
fia P+
[(CHs),SO|
4]

151 |- AF A F [z 5 = 597 5] % ;£(0.02 0.009 1.1x10° | # p
(% ﬂﬁ: g mg/m3

16




$7)[CeHa(
NO,),]
152.14.6-= & [z % = i€ #r 7] > ;2/0.004 [0.002 2.2x10° | # p
Aowmo e mg/m?®
v ﬁj;:
[CH3CgH>
(NO,),0OH
1
153.12,4-= A" |z % = & #r 7] 3 ;2(0.03 0.013 1.65x109% # p
Av oy |E mg/m®
[CeHsCHs
(NO2)]
154. |48 — ¥ = |z % = & o773 ;£[0.1 0.043 5.5x10° | # p
s mg/m?®
fia (¥
- PR
(2-5 Hhe
#)fa)
[CeHa(CO
OC8H17)Z]
155.(1,4— = § |x % = i #r 7] > ;2[1.8 0.765 0.9x10 | # p
1 B 2 mg/m?
(14-- %
b5 SR
[(C2H4),0
]
156. [+ s> | % = i #r 7] > ;£[0.004 ]0.002 2.2x10% | # p
[C4HeO[S|2+ £ mg/m?
PS(OC;Hs
D2]2]
157.|= ¥ [z 5 = w52 202 0.085  [1.1x10* | # p
[(CeHs)N |3+ & mg/m?
HI
158.|- F = @5 | % = o5 2 £[1212 5451 [0.007 | p
@ g mg/m®
[CHsOCs
HsOC3Hg
OH]
159. (= 3 A | % = iF 5] > 2]4.66 1.981 0.003 FFp
[(CHsCH, |3+ mg/m?
CH,),CO]
160.[- ¢ ’1% ¥ |z % = g or )3 2(1.06 0.451 5.83x107| % # p
[CeHa(CH[:* mg/m?®
CH>),]
161.|% % & [ |iz % = &£ #7572 2015 0.065 8.36x10° % # p
i g mg/m?®
(OCH,CH
CH,CI)
162.(1,2—2 % iz % = %97 7] > ;2(0.96 0.408 5.28x10% % # p
e [ mg/m?
(OCH,CH

17




CHs)

163.[2,3— 1% % |z & = s #r5 = ;2|1.52  [0.646  [8.36x104# # p
o 3

P [E mg/m
(CH,0OHC
HCH,0)

164.[c mave iz % = @ ors) = 2015 [0.064  [8.25x10% % # p
(NH:CH, [;+ & mg/m?
CH,OH)

165.|€ #4r | % = g #r5)> ;2(0.01  0.003  [4.4x10°C [z % p
[[(C:HsO) [+ & mg/m?
P(S)S].C
H,]

166. (2 1= % - g ers) 3 2036 (0153 [1.98x104% # p
(CoHsNH, |3+ & mg/m®
)

167.c pee iy | & = 975 > 2[288  [1224  [0.016 | p
(CHsCOO|:+ 2 mg/m®
CzHs)

168.|7 iz e | % = if 57 5] 3 £[2.04 . 0.867  [0.001 |z p
fin i mg/m
(CH2=CH
COOC;Hs
)

169. |2 g% &% = g er s S 2[37.6 15.98 0.021 |+ p
(CoHsOH) |+ # mg/m®

170.[5-7 #-3-|x 5 = w15 2262 [1.114  [0001 [z # @
A P+ mg/m®
[CH3CH2
CH(CHj3)
CH,COC
H,CHs]

171. 8.2 22 |x % = & 9p 7 3 ;2|17.84  [7.582 0.01 FH
(CoHsBr) |3+ & mg/m?

172.13-A fF | % = i) £[468  [1.989  [0.003 [## p
(e A |2 mg/m®
& Fif)
[CH3(CH;
)sCOCH,
CHs]

173.[2 @t & = iEers] s 242 1029 [0.013  [# % p
[(CoHs) 03+ & mg/m?
1

174.|c = v iz % = & 95> ;2[05 0.213 2.75x104% # p
(fe - [ mg/m?®
3)(NH,C
H,CH,NH
2)

175.|c = f% [ % = i #1353 202 . 0.085 1.1x10* | # p
(% B mg/m
i#)(CH.0
HCH,0H)

18




176.|c = m | % = i ers) = £[254 108 0.001 |## p
3 21 g mg/m?®
# JCH:0
HCH,0H)

177.|= ¢ ol % = s #r 5] 3 2002 [0.007  [9.68x109% # p
(H.CNHC |3+ £ mg/m?
H,)

178.|c = g |z % = i s = 2242|1029  [0.001 [z # p
fi e mg/m?
(CH,0OHC
H,0C4Hs)

179.]c - me | % = i #r7) = ;£[0.36  [0.153  [1.98x107% # p
fil e mg/m?
(CH,OHC
H,0C;Hs)

180.|c = fhe iz % = i 7] ;%054 ]0.23 2.97x10"|% # p
AR PTG [+ £ mo/m*
(CHsOC
H,CH,CO
OCHs)

181.|e = F " [k % = if #r 5] > ;2/0.32  |0.136 1.76x10% % # p
A g mg/m?®
(CH,0OHC
H,OCHs)

182.[c - v | % = i #r 5] 2(048  [0.204  [2.64x107% # B
N mg/m’
(CHsCOO
CH,CH,0
CH;)

183.[% % ¢ & |x % = £ #r 5 > ;£/0.04  ]0.015 1.98x109% # p
(CHO) & mg/m?

184.17 Fée fig [k % — iF #77] > ;2/6.06  |2.576 0.003 [## p
(HCOOG, |+ & mg/m?
Hs)

185.N— 2 & [ & = i #77] = ;2/048 |0.204  [2.64x10# % p
—14—5 |2 mg/m?
§ EE
(CH,CH,
OCH,CH;,
NCH,CHj
)

186. |4~Tr 48 & |12 % = & #75] = ;2/0.02  [0.009 1.1x10° | # p
£ P E mg/m?

187.[4 it 4= |k % = £ #r 5] ;2005 [0.021 2.75x109% # p
(v 5 g mg/m?®
:)(F)

188.|4 (Fy) | % = s #r5) = 2(003 [0.014  [L.76x109% # §

g mg/m?3

189.[4# = # 7 | % = s #r5)= 2[1124 (4777 (0062 [ # g

% (CCLF) 3+ £ mg/m°

19




190.[7 pare [ % = i ers s 2074 (0315 [4.07x109% # p
(HCONH,|:+ £ mg/m?
)
191.[7 g2 % % = g o7 ;£[0.19  [0.08 1.034x10[% # p
(HCOOH)|:* £ mg/m? -
192. 2wt @ s |1 % = i 97 ;£[0.16  [0.067  [8.69x109 5 # p
(CHOC [+ 8 mg/m?
HO)
193. 4 7 8 |1 5 = F 975 2 2(0.8 0.34 4.4x10* |5 # p
(CHOC [+ 8 mg/m?
H,0H)
194. |5 i %% = iEers] S &[17.8 [7565  [0.01 s p
g mg/m?®
195.[w & it 4% i % = iF #r 72 2[0.01  [0.005  [6.93x104 # p
(GeHy) [+ # mg/m?
196.|% = ;g [ % = igers) 3 2002 [0.007  [9.02x109% # p
[OHC(CH[:* # mg/m?
,):CHO]
197. (2245 % = i er ] (0.2 0.085 1.1x10% | # p
g mg/m?3
198.[45(HF) |z % = i& =773 ;2/001  [0.004 5.5x10 % # p
o mg/m?®
100.[x A |z % = Eers > 2328 [13.94 (0018 | # p
[CH3(CH, [+ & mg/m®
DsCHs]
200.|= & = = | & = #5575 = ;2[0.0042 [0.002  [2.31x109% # p
v 3
% g mg/m
(Cl,ccel
cciccly)
201.|= & & |2 5 = i #75) = ;£(0.0022 [9.35x104 [1.21x109 5 # p
- 2 /m3
= o mg
(CsCly)
202.|% & 2 % | 5 = g #r5)= £[019 0082  [1.067x10[% # p
(Cl,CCCly|:+ & mg/m® *
)
203.|- & ¥ & % = i #77]> ;2(0.004 ]0.002 2.2x10° % # p
(Cloncls) é"‘ “_E‘_ mg/m3
204.|= 4 g |ie % = §g er 5] 5 2[0.0136 [0.006  [7.48x109% # p
(CF,COC |2+ & mg/m®
Fa)
205.|= ;7 & | % = i #75) = ;£[0.0007 [2.89x104 [3.74x107|5 *# p
SBFmle mg/m?
fig
[OCN(CH
,)sNCO)
206.[n = = | % = g 2352|1496  [0.002 [ p
[CHy(CH [+ £ mg/m?
)4CHs]
207 (2 B4 [ % = o5 352 (1496 [0.019  [m# g
# (CoHa) [3* £ mg/m?®

20




N
A

208.|c pa % = [ix % = 15 777 > ;2[5.9 2.508 0.003 #HFp

¢ fiy 2§ mg/m?®
(CH,COO
C6H13)

209.2— 7 A |k &% = iF o B (242 1.029 0.001 mEp
—24— Al p mg/m?3
g1
[(CHs;).C
OHCH,
CHOHCH
g

210.[48. 1 & %% = iEerr 3 £(0.2 0.084 1.089x10|% # p
(HBn) [¢*# mg/m? i

211. |55 niz i % = %917 > ;£(0.0026 ]0.001 1.43x109% # p
(NH.NH,) |3+ 2 mg/m*

212.|1§ - & &% = i err] 3 2)0.22 0.094 1.21x104% % p
(HCN) [ # mg/m?

213.|4 - & * % = 953 £(0.05 0.022 2.86x109% # p
(i & g mg/m?®
&) (HF)

214.|i % v & |i& % = @£ 277 > ;%£/0.03  |0.012 1.54x109% # p
(H0;) |+ & mg/m®

215.[f5 1 & & % = % #r 7] > ;£/0.0032 (0.001 1.76x109% # p
(HSe) [+ mg/m?

216z (¥ [ % = i ers = 2)004 o017 [2.2x105 [ #
- g mg/m?3
77 )[CoHa(
OH),]

217.[4Fr B 1 |z % = E et 5] 2 2(0.002  [8.5x10* [1.1x10° (4 # p
RGO o mg/m?
43)(In)

218. |7 (I,) & % = & er 53 2(0.02 0.009 1.1x10° | # p

mg/m?

a2
T
219.|7 48 |k % = i <7 7] > ;£/0.0046 |0.002 2.53x109% # p
a2
T

(2 48 2+ mg/m?3
+-)[Fe(C
0)s]
220.|% mtag [ % = sz ers) - 202 0.085  [1.1x10% | # p
€ R mg/m?
T )(FeO,
Fes0y)
2212 g & |z % = s ers) 2 2[1064 4522 [0.006 |5 p
fia R mg/m?
[CH,COO
(CH,).CH
(CH3),]
222.[p xpp |z % = wers s 2722 [3.069 (0004 |5 p
[(CHa).C [+ % mg/m?

HCH,CH,




OH]

223.|c e - | % = g v 5] 5 £[14.26 [6.061  [0.008 |5 % p
i g mg/m®
[CHsCOO
CH,CHy(
CHa).]

024.|8 - m | % - g ers) o 2304|1202 f0.002  [m# p
[(CH)C [:+2 mg/m’
HCH,0H]

225|825 [ % - sgers) o 2632|2261 [0.003 s p
(C/HisCH [+ £ mg/m®
,OH)

226.|8 i i g |1 % = 57 5] 5 2056|0238 [3.08x10 s # p
355-= [++& mg/m?
2] i’dﬁ A
-2-4-1-
fi¥)
(C9H140)

227.|- 2 5| % = i %75 5 2[0.0009 [3.825x10°[4.95x107 % # p
Yy s mg/m? |*
[CioH1s(N
CO)]

228.2— R 5 |tk % = v 2 2212 0.901 0.001 |+ p
Fhep|rE mg/m
[(CHs).C
HOCH,
CH,OH]

229.|c pe B 3 |k % = iE 975 > 2(20.8 8.84 0.011 wHp
3 ) mg/m?
[CHsCOO
CH(CHy),

230.[2 5o [k % = g ers) 5 2024 (0202 [1.32x109% # p
[(CH).C [+ & mg/m
HNH,]

231 |2 A [k % - igers) 5 2[1966 [8356  [0.011 & p
[(CH::C [+ & mg/m?
HOH]

p32.[B o iz % < ig et ag s 2022 0094 [L21x109s % p
[CoHsNH [:+ £ mg/m
CH(CH),
I

2338 p e ik % = i ers s 2208 [8.84 0011 [##p
[(CHo)C [:+2 mg/m’
HOCH(C
Ha)z]

p34.[2 s bl % = i er710 476 2023 0003 [ g
R mg/m
[CH(CH5)
L,OCH,CH
CH,0]

22




235.|2 ‘f il % % = & o5 3 £(0.02 0.007 9.46x10°% % # p
(HZC:C: ;J.__g_ mg/m3
0)
236.|F a4y [ix % = #F 7 7] 3 ;2(0.003 [0.001 1.65x109% # p
[Pbs(AsO, |3+ & mg/m?
)]
237. |8 pady | % = 1F AT B R 0.0013 4.25x10* [5.5x107 | # p
(48 > mg/m
) (PbCr
0.)
238.|3; i % % = i€ =5+ ;2/0.004 [0.002 2.2x10° |z # p
S mg/m®
239.|% it £ [ % = i m 2 2(36 15.3 0.02 HHEp
7 LPG [+2 mg/m®
(CnH2n+2
(n=2~4)
240.|% 42 |z % = iEer 5 2 2(0.0005 [2.125x10°[2.75x107] % # p
(LiH) —él.il: mg/m3 M
241.|5 iv4x |k % = fEArm 2 (0.2 0.085 1.1x10* | # p
(f 8 mg/m*
"£)(MgO)
242,18 4> |k % = i A5 2 (0.2 0.085 1.1x10* | # p
(C1oH1e06 3+ £ mg/m®
PS,)
243,18 — 7 % | % = §F 27 7] 2 £(0.02 . 0.009 1.1x10° |# # p
- @ (R mg/m
a1 ME - ER
‘ﬁ“ ﬁjg,,
FHI(CHC
0).0]
244.14% > 8% |i= % = i o773 2[0.02  ]0.009 1.1x10° |% # p
(" 4k P2 mg/m®
+")(Mn)
2451462 H @& |i= % = g er s 2 (0.1 0.043 5.5x10° [ # p
g[8 mg/m?
(4
i)(Mn)
246. |5 X = N |1 B < BE er A 0.0023 8.5x10* [1.1x10° [# # p
B34 o mg/m
("1 430
[C5H4Mn(
CO)s]
47|13 B 5 A iz % = E #r 5] 2 212 , 0.51 6.6x10% | # p
p@ R mg/m
[(CH3)2C:
CHCOCH
g
248.|7 AR | % = B er 2 L4 . 0.595 7.7x10* | # p
e B mg/m
[CH=C(C
Hs)COOH

23




I

249.14— % § |k % = £ o5 3 £(0.1 0.043 5.5x10° |# # p
¥ 2 mg/m?
(CH;0Cs
H,OH)

250.|c FA ™ fin [ % = 1F 977 3 2 12.123 5.151 0.007 wEp
(CHsCOO[* & mg/m
CH3)

251.|p3 A =% = iE A 3 2328 13.94 0.018 #Hp
(CHiC=C [;* 2 mg/m?®
H)

252.|p ‘{ﬁ [z b e N = IS 1 I EY (V4 0.298 3.85x10%| % # p
i e mg/m?
(CH,=CH
COOCH;3)

253.[" A % | % = fFe77) 2 2005 0023 [2.97x109% # p
s g mg/m?®
[CH=C(C
H3)CN]

254.|= 7 § 9 |ik &% = iF o5 > £(62.2 26.44 0.034 FHp
i g mg/m?3
(CH;OCH
L,OCHs)

255.|% B % = %75 > ;2[6.24 2.227 0.003 wmHp
(CH:OH) |3+ & mg/m®

256.|7 H o A [k % = g er 5] 3 £[4.66 1.981 0.003 wmHp
i3 g mg/m®
[CH3(CH;
)sCOCHs]

257.IN—® % [i& % = £ #7 5] 3 ;£(0.04 0.019 2.42x10%|% # p
Bz g mg/m?
(CsHsNH
CH3)

258.|7 A1 [ % = igers] 3 204 0.17 2.2x10*% | # p
it 2 mg/m?
(CHsCOC
aHo)

2505 » = [ % = iger7) 5 2206 [0.876  [0.001 |5 % p
(CHCI) [+# mg/m?

260.2—F & iz % = iE 97> j£(0.18 0.077 1.001x10|% # p
AR | mg/m’ i
fin
[CH=C(C
N)COOC
Hs]

261.(" iR e |iz % = iF o7 2 %322 13.69 0.018 HEp
ez g mg/m?®
1)

262.(7 ke |ix % = o5 3 4468 1.989 0.003 FEp

mg/m?®
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3 e
(CH3CsH1
LOH)
263.|7 Kk |k % = i #7753 £(4.58 1.947 0.003 wHp
8 21 g mg/m?®
(CH3CsHq
co)
264.|7 g A |k % = 0F #r5 > £(0.004 0.002 2.2x106 | # p
B EE mg/m?®
AR (1
i)
[CHsCsH4
Mn(CO);]
265.[3,3°-= % -[i&x % = % #r 5] > ;£(0.0044 ]0.002 2.398x10|% # p
447 1 R mg/m?® 6
gy
(C13H12C|
ZNZ)
266.[4,4-= £ |iz % = i #7 5] = ;£/0.004 ]0.002 2.2x10° | # p
FR-¥e mg/m®
w oz
(OCNCgH
4CH2CeH,
NCO)
267.|7 B (2- [ % = F 77| > ;2[11.8 5.015 0.006 wHp
) (7[R mg/m?
e ik
fir)
(CHsCOC
2Hs)
268.[5F - [ % = g i 2] £[003  [0.013  [1.65x10% s # p
3
i g mg/m
(C8H16o4)
269.|7 FL ¥ fin [ % = F 77| 3 j2]4.92 2.091 0.003 wmHp
(HCOOC |2+ ¢ mg/m?
Hs)
270.|9 Hmie|ik % = £ #r 7] > ;£(0.01 0.003 4.18x10% 2 # p
(CHsNHN[|:- £ mg/m?
Hy)
271.|@ 7 % |k & = i er5] 3 (024 0102 [1.32x10°% % p
CHsh)  [+2 mg/m’
272.19 KB A ik &% = £ #r 5] > £(4.68 1.989 0.003 wmHp
3
it g mg/m
[CH,COC
,H.CH(C
Hs)2]
273.14— 7 A ik % = % #r5) > £(2.08 0.884 0.001 FFp
—2— & g mg/m?
i3
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[(CH3).C
HCH,CH(
CH3)OH]
27417 KB 7 ik &% = E9r5 3 E41 1.743 0.002 #Hp
i i mg/m?
[CHsCOC
H(CH;),]
275.|% 5 pa® [ % = iE 257 = 2(0.001  |4.25x107 [5.5x107 |3 # p
fia E mg/m®
(CHsNCO
)
276.|7 A B[ |k % = iFEors] 2 |14 5.993 0.008 #Hp
i 2 mg/m?
[CHsCOC
H(CH;),]
277.|7 &A@ J-‘fr iR H = g 3 2182 3.485 0.005 wmHp
mom R mg/m?
(CsHsCO
OCH,)
278.19 [ fr &% = i er s 3 2141 5.993 0.008 wmEp
[CH3(CH, [+ & mg/m?
),COCHjs]
279.|7 A% = | & = ig =5 > ;2288  |1.224  [0.002 |## p
c AR 2 mg/m?
[(CH5;)sC
OCH;]
280.|0-7 A ¥ [ &% = £ 975 > ;2|4.84 2.057 0.003 wmHp
v g mg/m®
[CsHsC(C
H3)=CH2]
281.|1Z2 % £ & % = #7753 £]0.06 0.026 3.3x10° | # p
g mg/m?®
282.|148 > 73 [k % = 2 25 2 (0.1 0.043 5.5x10° % # p
EREEE mg/m®
(J‘l 48
#)(Mo)
283. |75 R = iEerA 2 2[1.42 0.604 7.81x104 % # p
(C4Hgo +E mg/m3
NH)
284.| 7 ¥+ k%= g3 £(8 , 3.4 0.004 wmHp
(% g mg/m
%)(C7Hg~
CgH10)
285.| % (CioHg) [ 3 = i =+ 7 =+ ;2[1.04 . 0.442 5.72x10 % # p
g mg/m
286.|4% > ¥ i3 [k % = g #r 7 3 ;2[0.002  [8.5x10% [1.1x10° [z # p
EREEE B mg/m®
(J‘I 4
- )(Ni)
287.|m 241t 4% |tk & = iF @7 5] 3 ;%(0.0001 [5.95x10° [7.7x10® |4 # p
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[N|(CO)4] g
288. |34k (& | % = g 4 mg/m?®
¥ el 10004
7 )(CsH, T mg/m3 . 5.5x10° |3 # p
NC4H/NC
Hs)
289. |7 it [
(HNOs) |+ & o 7] 3 5£[0.1 0,044
290.|- 5 i* § — mg/m?3 5.72x10% % # p
{7 e N L | IR
(NO) g i o7 3 £(0.62 0264 ”
DO s BT |F 5% = mg/m’ 41x109 5 % 7
= R e
(NO,CeH, v mg/m?3 33%x10° |5 # p
NH,)
292. |/ K F |k &% = E 4y
(C H:N . & T 7’!] = ik 0.1
) sHsNOz [3+ & g/’ 0.043 55x10° |5 % p
293. ?H'_/Eﬂ'ig ® % fErs
¥ - i 9 5 3 £/0.02 0.009
[CeH4CI( vE mg/m? 1.1x10° |5 # p
NO,)]
PV P P
(CHsCH, |2+ i 47 3 21614
o | £ o 261 0003 |57 7
295 = _Q; i A}: e —
(NO, & |+ i #r 7 3 ;£10.18 0.077
N2O4) L mg/m® : 0.9x10% [5 # p
296.|= & 1+ F |k % = 6
(NFs) o gt 3] 2058 [0.247 -
297 |& i 4 :;;: - mg/m3 19x10% + p
[C3H ON |2 i 915 3 £/0.04
OZ)S]S( g mgim® 0017 |[2.2x10° | # ¢
208 [ s e = | % = i #
ﬁ% . iE 1 5] =+ ;%10.0024
[(CHZON FE mg/m3 0.001 1.32x1079 e
02)2]
299 [w e = |z 5
‘ g "'g LT
(CH3NOy) |3+ # | = &[5 STt To003 ‘
300. 15 5 42 (it % = i ¢ mg/m° ' Cad
(CH:CH, [+ 2 iEer s 3 (182 57
G a74
CH.NOy) v mg/m? 0001 |z+p
BOL [o-st s % | % = 45 o7
(CHsCHN|z* i wr 7] 3 (072
0,CH;) e mg/m3 0.306 3.96x10 % # p
302. (s A ¥ | % = gE
(NOCoHe |5+ 2 o] 2 £(0.22 00
CHs) 73 Ea o mg/m® 094 121x109 % % ¢
303.[- 5 - [mew =
% [ D
# (NO) |2 A 0.765 9.9x10*
30422 &% - ¢ mg/m3 9x10* |5 # p
FEE X1
el 8.925
0.012 5 p
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(CoH) |3+ £ mg/m3
305.|~ & & [@& % - igor5) 2 2[0.002  [8.5x10% [1.1x10° [z # p
(CoCig) 3+ £ mg/m*
306. |+ = =% = E T3 2|28 11.9 0.015 #Hp
(CeHig) [ £ mg/m?
307. | FiF [P N S TP (N 0.043 5.5x10° | # p
(1) [+ 8 mg/m’
308.|= § i 4% [x % = iE #r 7] = ;2(0.00003 [1.36x10° |1.76x10% % # p
(2 4% g mg/m?®
+°)(0s0y)
309.|% e (2 [ % = % =77 = ;2]0.02 0.009 1.1x10% | # p
- S mg/m®
f4)[(COO
H),.2H,0]
310.(4, i % & % = 65 97  ;2(0.0022 [9.35%x104 |1.21x10° % # p
OF) |*# mg/m?
311.(4 % (Og) |i& % = % #r 7] = ;£/0.004 ]0.002 2.2x10% | # p
g mg/m?®
312. |74 - & [ &% = & #7752 j2(0.04 0.017 2.2x10% |z # p
' 2 mg/m®
313.|7 /i |z % = i 97 7] = ;£/0.0003 |1.105x107[1.43x107|% # p
(BsHy) [+ mg/m® [
R14.]7 # & | % = iz 575> 2[001 0004  [5.5x10° |5 # p
(CuHs |2+ 8 mg/m?®
Cly)
315.|~ = k% = 1E o753 £(35.4 15.05 0.019 wHp
[CH3(CH, [+ & mg/m®
DsCHs]
316.|: & 7 A |2 % = % #r 5] > £(0.02 0.006 8.36x10° % # p
g R mg/m?
(CIScCly)
317.|#6 & pa 4 [ix % = 15 #7573 ;2]0.26 0.111 1.43x104 % % p
(CIFO;) [ % mg/m’
318. |a ik % = 0E e s > £(0.38 0.162 2.09x10% % # p
(CoHsOH) |3+ £ mg/m®
319. [ s |tk % = E er 5] (01 0.043 5.5x10° |z # p
(CiHoNS)[2+ £ mg/m®
320.|%t— ¥ = [ &% = 5 #r 7] > ;2[0.002 [8.5x10* |1.1x10° |z # p
Bz g mg/m?®
[CsHa(NH
2)2]
321 | F @ #& [ % = #5977 > ;2(0.14 0.06 7.7x10° | # p
— 3
F; g mg/m
[(CeHs).0
1
322. a;ggqﬁj\ %% = iEfrr 3 20,12 0.052 6.71x109% % p
4ap [ mg/m?
(CeHsOC
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H,CHCH,
0)

323|502 & % = g ers) > (044 0187 [2.42x109 % % p
(CeHsNH |3+ & mg/m?
NH,)

S24. ¥ wip [ % = i el = 2005 002 2.53x109 % # p
(CeHsSH) |1+ £ mg/m

325. [ 5 = 5 % 7] > £[0.0046 10.002 2.53x10 % # p
(CoHsPH:)[3+ £ mg/m

326.[igmy 4> | % = i 575 = ;2[0.001 [4.25x10 [5.5x107 |5 # p
[(CoH:O), [+ £ mg/m?
P(S)SCH;
SC,Hs]

327.|% & @& % = #5975 = 2001 [0.003  [4.4x10° |5 # p
(cocl) |+ mg/m?

B28.fef i & [ % = i 7l 2001 [0.003 4.4x10° |5  p
(PH) |2 mg/m

329. e ® % = iE s S £[0.02 0.009  [1.1x105 [ # p
(HPO) [+ £ mg/m®

330.[¢ #5(P) [ % = sz =751+ 2[0.002 [8.5x10% [1.1x10° [+ p

g mg/m?3

3315 & a5 = s ers = 2001 0005 [6.93x109% % p
(POCL) |+ % mg/m®

332.|7 # v mi |z % = & #r7= ;£/0.02  0.009 1.1x10° |% # p
(PCls) |3+ % mg/m?

333.[7 mritgh |z % = iz or5) = 2002 0009 [1.1x10° [ p
(PSs) [+ mg/m?

834.|= & [k 5 = i 7] 2002 [0.009 1.21x1095 # p
(PCl) |+ & mg/m

335 [ g - v [ % = g5 2012 0052 [6.71x10% 5 # p
(Fs (e mg/m?
v k)
[CeHa(CO
)20]

336.[- % | % - im0l 0043  [5.5x10° |5 # p
[CeH(CN [+ 2 mg/m?
)2

337 vk [ % = g ers) s £[0002  [85x10% [1.1x10° [g % p
[CeHa(OH [+ 2 mg/m?
D(NO,)s]

338.[1,4-- § | % = i 575> 201 0043  [5.5x10° |5 # p
Be o BR mg/m?
7P
(CAHIONZ'
2HCI)

339.|140 2 % |% % = i o552 2(0.02 0.009 1.1x10° | # p
(4 48 21§ mg/m®
PP |

340.|48 > 3% [#% % = % #7752 ;2(0.00004 [1.7x10° [2.2x108 [ # p
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Bagg e mg/m?®
(4 45
)(PY)

3415 #m e 8 = w2150+ 2[0.0002 [8.5x10% [1.1x107 [ # p
[ClHuo 3+ mg/m?
nCIn(1=n '
<10)]

342. [ = ® % = i er) 2 2[36 153 002 |#+p
(CHCH, [+ # mg/m?
CHs)

343.|5 i w5 = Eers) > 206 0255 [3.3x104 |5 % p
(CHCH, [+ # mg/m?
COOH)

344.|1—a ms i % = dpers) s 2082 4174 [0.005  [w#op
(7 +E mg/m?
fi%)(CHsC
H,CH,OH
)

345.c g i | % = g ers) 2 5167|7008 [0.009 [##p
fia R mg/m®
(CHsCO0
C3H7)

346. [ pen | % = g ers) o 5214 091 0001 |#*p
i e mg/m®
(C3H7N03
)

347.|F = pa= [i& % = #F #r 7] ;2001 0.003 3.74x10°% % # p
R o 3 mg/m?
(NOsCH;,
CHNO;C
Ha)

348.|% = pa o | % = gxers) = 2[7.38 [3.137  [0.004  [## p
i 2 mg/m®
(CH;OCH
,CHOHC
Ha)

349. |75 4 3 v i % = i 477 £[0.09  [0.04 5.17x109 % * p
(CHsHCN 3+ ¢ mg/m?
HCH,)

850,15 i [k ¥ = i o7l 2[00 0043  [5.5x10° |5 # p

g mg/m?®

351. [ ez &% = & er s 3 (032 0.136 1.76x104% # p
(CsHN) [+ 2 mg/m°

352. [z % = 5ot 2001 [0.004  [4.84x1095 # p
fi
(CHOy) i+ £ mg/m?®

353. [ % - g |z % = g ers 2 2[0.9 0383  [4.95x10%% % p
@# |2 mg/m?
3 )[CoHa(
OH),]

354. |42 (1148 |k % = iF 772 2(0.002  [8.5x10* [1.1x10° [ # p
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WER PR mg/m®
TR 2
T e
+ (Rh)

355. |4k (1 45 |z % = iE #r 7 = £(0.0002 [8.5x10° |1.1x107 |3 # p
N o mg/m’
(EALE
(Rh)

356. |4 &4 [k % = iEerr 3 201 0.043 5.5x10° | # p
(CasH2206 |3+ 2 mg/m®
)

357. | v & 4 [k % = %5 #r 7] 3 ;£(0.004 ]0.002 2.2x10% | # p
(7 2L mg/m?®
+)(Se)

358.|= & 5 [k % = % #r 7] ;£(0.0032 |0.001 1.76x109% # p
(SeFy) |3+# mg/m®

350.[w & v | % = i 917 > ;%013 ]0.056 7.26x109% # p
(SiH4) —él.il: mg/m3

360.|42 > & [#® % = i #r7] = ;2(0.0002 [8.5x10° [1.1x107 [# # p
PR E[E mg/m?*
LR
TERLIEE
(,l‘l 42
)(Ag)

361. (4 & 40 |i2 % = iE 977 2 %001 0.002 3.19x10% % # p
(NaNg) [+ mg/m?3

362. | T Frfic & |i= % = i er 7 2 (0.1 0.043 5.5x10° [# # p
4 g mg/m?
(NaHSO5)

363.|4, ¢ padp [ % = % o7 7] > ;2(0.001 4.25x10* [5.5x107 |% % p
(FCH,CO [+ 2 mg/m?
ONa)

364. |4 § L4 |k % = i err) S 2[0.04 (0.017 2.2x10° | # p
(NaOH) |:+# mg/m?

365.|% 4% |z % = £ 215> ;£/0.01  ]0.004 5.61x10°% % # p
(SbHy) [+ # mg/m?®

366. [#1 5 4 i |1k % = i @7 7] > %105 4.463 0.006 wmHp
aM_ e mg/m?®

367.|= % L mn |k % = i s 2 2[00 0.044 5.72x10°% % # p
(S0)  [i+# mg/m?

368.|- 4 L &e [k % = i #r 7] £(119.4  |50.75 0.066 wmHp
(SF)  [# mg/m’

369.|- # v gn |z % = & er5 > £/011 |0.047 6.05x10°|% # p
(S:Cl) [+ 8 mg/m?

370. | s % = iE et 2002 [0.009  [1.1x10° |5 # p
(H:S0s) [+ £ mg/m?

371.|7 & &2 |iz % = £ 9+ 7] > ;£(0.002 [8.50x10* |1.1x10° | # p
(SoFw) |+ 8 mg/m®
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372.|z & L |k % g
i (=L 2 e BPE
(59 e | ?ﬁg}m3 0.004 4.84x10°% % % p
373.|& i+ g i % = i =
£ 407 3 0.
(SOF) [+# ! 2121/2m3 R Sl L
374k 7 (7 | % = iF o
g TR
I o | 210;1 , 0.017 2.2x10% | # p
) B o
[Mgs[Si,O
10](OH)2]
375.|52 0 &£ |k % = i 4
& gt 7 |0,
2§l ! ?né/ms 0043 55107 |5 p
# A (Ta)
376. |2 H it ik & = 0
H AT = 510, -
A e e e e
i )(Te)
377. d,é;__:g, &% = g e
WE AT R B R -
i N | OmO?rs]g §.995><10 5.17x107)% % p
[(CoHsO)| ’
P20s]
378.[m = ¥ [ % = i =
= ¢ i er ) 3 %[00 0.0 SE
HEGHS)ZCG€L§ mgm® .043 5.5x10° |z # p
379.1,1,1,2— [i& & = % #7
L i or 7 > %834 35 ;
g jzyz oy i 45 0.046 wmHp
-
(cclecl
F,)
380.[1,1,2,2— [i& % = % #7
e, i o7 = %834 35 ;
g tl’z oy i 45 0.046 wmHp
- i
(CCl,FCC
1,F)
381.(1,1,2,2 % % 2
R
bLaz i E 152014 0089 [759x10% 5 % 7
(CHCLC | mom
HCl,)
382.|z & % & % :
P i = 7 > £|0.04 0.0 s |
CIA()C10H4 g mg/m? ! 2210% |5 % p
383.|w o F4n |k & = iE
& & 1 71 3 ;£10.0015 |6. - BE3
[Pb(CaHs) |1+ & mg/m® |* 375x10(8.251075 % p
4
384 | v fhan | ¥ - 0
i BT 3k -
Cr ! (r)rig?r#? 6.375:10'(8.25:107 5 %
+H)[Pb(C
Ha)a]
385.|m & vkvh [k % = iF
Eers) 3 £|118 |5 5
(CHOl [ & /i .015 0.006 wmHp
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386.(x 7 syt ix 5 = iz #7572 2006 [0.024  [3.08x109z # p
14 % 2L g mg/m?®
[NCC(CH
3)2C(CH3)2
CN]

387.|w At v 42 [z % = sz #r5) > 2[0.16  [0.068  [8.8x10° |5 # p
[C(NO,)] [+ & mg/m?

388.|maip e |k % = iF 215 > £[01 0.043  [5.5x10% [# # p
4 2 mg/m?®
(Na4P207)

389.|c mipips | 5 = iz #75) = ;2[0.08 0032 [4.18x109% *# p
(HSCH,C [ £ mg/m?
OOH)

390. |3 mepipd | % = % or 5= 2[00 0.042  [5.39x10% 4 % p
(socl) |+ mg/m?

39L. |z [ % = s ers) = 20l 0.043  [5.5x10° | # p
[[(CH)N |3+ £ mg/m?
CS],S,]

392.|147 2 &7 & [ % = g #7572 ;2004  [0.017 2.2x10° | # p
it b 2 mg/m?
(,l‘l 2
3-)(Sn)

393.[47 4 81 |z % = £ 475 ;2(0.002 [8.5x10* [1.1x10° | # p
L3[R mg/m?
424)(Sn)

394.|% 47 | % - wxer7) = ;2004 [0.017 2.2x10% | # p
(147 g mg/m?3
#)(Sn)

395.|- § 4% iz % = sz o+ 5= 2|02 0.085  [1.1x10* |5 # p
(Tio)) |2 mg/m®

396. |5 — v ¥ [ % = s o+ 5> 2[044 0187 [2.42x104% # p
Bz g mg/m?®
(CH3CeH4
NH,)

397. [ — 7 ¥ | & = i o5 ;2(0.18  0.075  [9.68x10% % % p
Bz g mg/m?®
(CH3C5H4
NH,)

398.|40— @ ¥ [ % = s #r5) - ;2[0.18 0075  [0.68x109 % # p
B g mg/m?®
(CH3CeH4
NH,)

399.[2,4— = B[z % = & #r 7]+ ;2[0.0007 [3.06x10*[3.96x107% # p
Fme ¥le mg/m?®
£ 26—
—RBFi@m
3
[CH4CeHs
(NCO),]
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400. [ps = 7 |k % = iF @77 = ;%]0.04 0.019 2.42x109% % p
fi 2 mg/m?
[(C4Ho)sP
0.]

401.|= &  pi |i= 5 = i =77 > ;£(0.13  [0.057 7.37x109% # p
(CCI,CO |:+& mg/m?®
OH)

402.1,24—= | % = e 5= 2074 (0315 |4.07x104m # p
iy e mg/m?
(CsH3Cls)

403.[1,1,1— = |ix % = E#r5 = 2382  [16.24 0021 [z #p
o g mg/m?®
(CH5CCl)

404.1,1,2— = | % = & or 5 = £[11 0.468  |6.05x10*% % p
o g mg/m?®
(Cl,CHC
HCl)

405.(= # £ | % = Eors 2 2[00 0.043  [5.5x10° | # p

(CroHs |3+ mg/m?

Cls)

406.11,2,3— = |iz % = £ #7753 ;£(6.04 2.567 0.003 wmHp
ipE R mg/m®
(CICH,C
HCICH,CI
)

407.(1,1,2— = | % = i #r5| = ;£[1534 [65.2 0.084 [z # p
F-122[+% mg/m®
—Z &
(CCl,FCC
1F,)

408.[= 2 3= |i& % = £ @77 = ;2]0.82 0.349 4.51x10 % # p
[(CoHs)sN |3+ 2 mg/m?
1

409. (= & ;8.7 |= % = iF #7573 ;21218 [51.77 0.067 mHop
2 (CBrFy)2+ £ mg/m®

410.[1,2,4— 5 |1z % = % =7 7] % ;%/0.0008 [3.4x10* [4.4x107 | # p
¥z pprl R mg/m®
(CoH405)

411.|= 7 ¥ iz % = £ er 5 3 2246 1.046 0.001 wmHp
[(CHa):Cs [;* & mg/m?
H]

A12. (T mipe = |k % = i #r 7] 3 %02 0.085 1.1x10% | # p
N mg/m?
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1

413.[2,46—= |ix % = =+ 5= ;2001 0004 [55x10° [z # p
AT F e mg/m’
[CH3CsH>
(NO2)s]
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414.|= #v e ¥ [ 5 = 6 =55 > ;£[0.002  [8.5x10* [1.1x10° |5 # p
AL [ 8 mg/m?
(CuH210,4
P)

415.|= ¥ oz % = 65 255 > 2[00 0.043  [5.5x10% |5 # p
[(CeHo)aN [+ mg/m?

416 |psps = % |2 % = =75 > ;£(006  [0.026  [3.3x10° |5+ p

3
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417.145, > 2433 |ie % = iE 255 = j£[01 0.043  [5.5x10° |5 # p
B2 mg/m?®
(l‘lﬁ%
)W)
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B g R mg/m?®
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4222 ~pe [k % = ggers) o 2352 (1496 0002 | g
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L mg/m?
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42417 § 1 = [ % = #F =55 > ;£[0.002  [8.5x10* |1.1x10° |5+ p
rogg [ mg/m’
(V205)

425. A pe e | % = 65 967 2 (0.7 0.298  [3.85x10%% # p
(et |8 mg/m?3
¢ i fia)
(CHsCOO
CH=CHy)

426.[ie 4 |iz % = i ers] 2 2(0.44 (0187 |242x1075 % B
(CH,=CH [+ ¢ mg/m?
Br)

427. |- % %% |iz % = #5915 > j2|1.14  |0.485 6.27x104% # p
L e [ mg/m?®
(CH,CHO
CsHy0)
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I |epmr CH:CHO 100(180
2 |mps CHsCOOH 10]25

3 | e (CH:C0):0 5|21

4 |f e (CH»):CO 750(1, 780
5 | CH:CN 40|67

6 |wigivo (1,1,2,2—2 42 %) |CHBr«CHBr: 1|14

7 |p R CH=CHCHO 0.1}0.23
8 |f YRR CH.=CHCONH: 0.03
9 |fp R CH.=CHCOOH 10|30
10 |/ il CH.=CHCH-0H 214.8
RENE CH:=CHCH-C1L 13

12 15 f Ak 4 # e H-C=CHCH.0CH.CHCH=0 5|23
13 |2 — higeleg_ CsHiNNHz 0.5]1.9
14 |z NHs 50|35
15 | iv48 () NHC1 10
16 |o pe it ~fy CH>COOCsHii 100(532
17 |e pe % = A fig CHsCOOCH(CHs) (CHz)-CHs 125(665
18 | ¥z CeHsNH2 2|7.6
9@ E] F = (3533 C ¥R 1‘#—*" ) CH>0CsH:NH 0.1[0.5
20 (@2 i & (Uhh) Sb 0.5
21 | F < (a—3Aok) CioH:NHCSNH: 0.3
22 [§ Rt (LR As 0.5
23 |phiv g AsHs 0.05(0.16
24 | B CioHi2Na0sPS2 0.2
BRI TS Ba 0.5
26 |G % "{mw_ (CsH4CO)20: 5

27 1§ v 7 ¥ CeHsCH:C1 115.2
28 |ms ¥ CoHsCeHs 0.2(1.3
29 |z v BBrs 1110
30 |= & v BF: 112.8
31|58 Br 0.10. 66
32 |7 & (8 BrFs 0.1(0.72
33 |z 80 CHBrs 0.5[5.2
34 |7z CHsCH2CH:CHs 800(1, 900
35 |1—"7 Frf% CiHsSH 0.5(1.8
36 |1—7 % CHs(CHz)s0H 100(303
37 12— % CH;CHOHCH-CHs 150|454
38 |e g 7 fig CH>COOC:Hs 150|712
39 e ¥ =7 Ay CH:COOCH(CHs) (C.Hs) 200(950
40 | % = 7 fiy CHsCOOC(CHs)s 200(950
4l |5 ="/ (CHs)sCOH 100{303
42 |7 o CiHsNH: 5(15
B |27 Ak CHs(CHz)30CH:CHCH:0 25(133
44 |5 ph i 7 fy CH:CHOHCOOC.Hs 5(30
45 | —% - 7 ps CHsCH-CH(CHs)CsH:OH 5(31
46 [3t—% =7 e ¥ (CHs)sCCeH4CHs 10(61
47 |7 gt Cas(As0n): 1

~ j\ Z:t\' F\
PRI
ATHE 2.
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48 | =i 4T CaNCN 0.5
49 |5F 48 Ca(OH): 5

50 | i4¢ Ca0 5

511 & 47 CioHis0 2(12

52 e p pr=(h A CH(CHz).NHCO 1

53 & pfei=(EF) CHz(CH:):NHCO 5(23

54 |4 A CioH:00CNHCHs 5

55 [4e %3 Ci2HisNOs 0.1
56 gt 2, C 3.5
57 |- §F v p CO: 5,000(9, 000
58 | prit CS: 10|31

59 |- F v s CO 35|40

60 |z & 4 CsOH 2

6l | = CioHsCls 0.5
62 i L3 Y ? Ci2HiC1:0 0.5
03 | & Cl: 0.5[1.5
64 |- F - & C10: 0.1]0. 28
65 |= 4 i+ & CIFs 0.1}0. 38
66 |- & cpr C1CH.CHO 113.2
67T la—F&cepr (0—F4%2f) CeHsCOCH:C1 0.050. 32
68 |& ¢ fipd CH:.C1COC1 0.05/0. 23
9 & F CeHsC1L 75(345
70 [4F 7= BrCH:C1 2001, 060
7 2—% —1,3—" =% H:C=CCLCH=CH: 10|36

2 |F- &9 % CHCIF: 1,000|3, 540
LR CHsCH:C1 1,000(2, 640
T4 12— % ¢ pg C1CH:CH.0H 113.3
EEEE RS C1CH:0CH:CL 0.001(0. 0047
76 |1-1—1—#Ap = CsHsCINO: 2(10

UL ER IR CCIF:CFs 1,000(6, 320
BlFivE (2587 %) CCLsNO: 0.1(0.67
T |B—F Fe C1CsH/«CH=CH: 50(283
80 |AR—F 7 F C1CsH(CHs 50(259
81 |42 & B (r1483h) Cr 1

82 |- et by ( Cr 0.5
8 =gt (u@—‘; Cr 0.5
84 | gt s P 0.2
85 |8 EREEE B (1435)  |C0/C00/Co0/Cols 0. 05
86 | & b te 0.15
87 |4F > g Cu/Cu:0/Cu0 0.2
88 |4F > B AIrHF (1) CuS0:. 5H:0/CuCl 1

89 |4 A& 0.2
90 |= &g CH;CH=CHCHO 2|5.7
o1 |[Ep ¥ CollsCH(CH: )2 50(246
92 |"p (#4775 B HH) CH:;CsHiOH 5(22

3 (5% (§82) HNCN 2

9 |5 g (11§ 130) CN° 5




95 |7k = CeHuNHz 10(41
e CeHiz 300]1, 030
97 |#®k e ﬁﬁ, CeHuOH 50]206
98 |k fip CsHiCO 25]100
99 1,3~ = % CsHs 75(203
100 |3 ~ 2z CsHio 600(1, 720
10112, 4—% (2,4—=- &% ¥3 &) C1:CsH:0CHCOOH 10
102 | L iz BioHus 0.05(0. 25
103 ;=8 > CsHis0sPS: 0.01]0.11
104 | = & fr A (CH3):C(OH)CH-COCHs 50(238
105 | % 44> [ (CH3)-CHCiNzH(CHs )0 JPS(OCaH5 )2 0.01
106 |# § @’z CH:N. 0.2]0. 34
107 | = iz B:Hs 0.1]0.11
108 | ps = 7 fin (C4Hs0)-POOH 1/8.6
109 (g% - @ - 7 g CsH1(COOC4Hs )2 5
o= 7 2z % C«Ll: 0.1]0.39
H1|g8— = & F CoHiCl2 50(301
214 —- §F % CeHlliC12 75(450
H3|- 5 -4 7% CCIL:F. 1,000(4, 950
1411,3—= % —5,5—= 7 &z p A% |CHeClaNeO: 0.2
H5(1,1—=- ¢’ CH:CHC1- 100{405
16]1,2—= § ¢ % C1CH=CHC1 200(793
N7z % o g (C1CH:CH2):0 5|29
18 |- % 4 7% CHC1:F 10(42
911,1—= &% —1—# ez H:CC(C1)2NO: 2|12
12011,2—- # % CH:CHC1CH:C1 75347
12111,3—= § 3 % CHC1CHCH:C1 114.5
12212,2—- # p & CHsCC1:COOH 115.8
12314 —w & - F 2% CC1FCCiF: 1,0001(6, 990
124 | (CH:0)2P(0)OC(CHs)=CHC(0)N(CHs)- 0.25
125 = FA '/ﬁ CioHiz 527
126| - ¢ ﬁg Big (HOCHZCHZ)ZNH 3(13
127) = z % (CeHs):NH 10{30
12812-= z gl v fig (C:Hs )-NCH.CH.OH 10(48
129 e A= NH2C-H:NHC-H:NH: 114.2
130| = 2 pp C2H5COC-Hs 200{705
BUERF - " fi- ¢ fig CoHs(COLCoHs )2 5
132|424 9 % CF:Br 100(858
133 Sk L OCH-CHCH-0CH.CHCH=0 0.1]0.53
134|1- 8 = A (CiHy)2CO 25145
135 8 v [ (CHs):CH]:NH 5(21
136 |N,N— = 7 Lo iz CHsCON(CHs)- 10(36
137)= @ 5% (CHs)NH 10|18
I38IN,N—= @ H & CeH:N(CHs)- 5125
139 & (CHs)2P0:CH=CC1. 0.11
L40IN,N—= 7 A ¥ figrde HCON(CHs)- 10{30
14l gy - v - @ fig CsHs(COOCHs)- 5
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12| Frpe= @ fiy (CHs)2S04 0.10.52
- AF(z 8 ‘]‘##ﬂ) CoHs(NO2)- 0.15]1
1441 - pl gL — 38— ° s CHsCsH2(NO2)20H 0.2
45|z gl ¥ CeHsCH3(NOz2)2 1.5
l46|m—5 - @ [ CeHa(COOCsHi7): 5
14701,4—=- 5 1= H (CeHa)20e 25(90
148 < > CiHe02[ SPS(OC:Hs)2 ]2 0.2
149| - ¥ (CoHs)2NH 10
150| = 3 = %@ Bt CHs0CsHsOCsH:OH 100{606
151 = Z'i—!_;ﬁﬁ; (CHsCH:CH:)-CO 50(233
152 | = g (C:Hs0)2P(S)SCH2CH:SCH-CHs 0.1
153|- ¢ ’aﬁ E3 CeHs(CHCH2): 10(53
154 )% 2 4 CoHsC160sS 0.1
155 = CoHsP(CzHs0) (S)0CsHaNO: 0.5
156 |35 % p = OCH:CHCH:C1 2(7.6
I57\1,2— %% = OCH=CHCHs 20]48
15812,3— %% f i CH:0HCHCH:0 25|76
159] 2 oz NH:CH:CH:0H 3|7.5
160 [ & Ha [ (C:H50)2P(S)S]:CH: 0.4
161 |2 = C:H:NH: 10/18
1622 e fiy CH>COOC:Hs 400(1, 440
163 |3 f ik ¢ fig CH=CHCOOC:Hs 251102
164 |2 pg C2H:0H 1,000(1, 880
1652 A fp CHsCH:CH(CHs ) CH.COCH:CHs 25(131
166 |;5.2 = CoHsBr 200(892
167 ¢ = fA CHs(CHz)3sCOCH:CHs 50(234
168 | ft (CaHs )20 400(1, 210
169|2 = 3 (W 2 = 3=) NH2CH2CH:NH: 10(25
170 = gz 4% CeHiBr 20(154
171]e = m (FiF) CH:OHCH:0H 10
1721 = (& # ) CH:0HCH:0H 50(127
173 |z g7 H2CNHCH: 0.5]0. 88
174z = g7 @t CHz0HCH=0C:Hs 25121
175|e = fg o et CH:0HCHz0C:Hs 518
176 |¢ - pr o s f i C:H:0CH-CH.COOCHs 5(27
1771 = f& ™ CH:0HCHz0CHs 516
178|e = g @ s f i CH:COOCH:CH=0CHs 5(24
179|1%. % ¢ 'z CHi0 1(1.8
180 | @ A% e fiy HCOOC:Hs 100(303
181 |2 grps C2HsSH 10|25
I82|IN—2 £ —1,4—% § £® CH-CH-0CH-CH.NCH-CHs 5(24
183 | 44 2 4 (CHs0):P(S)OCsH:C1s 10
184 |46~T: 48 £ & 1
185]% 4 (14 25) F 2.5
186 4 F. 111.6
I87T 14 = % 7 % CCI:F 1,00015, 620
188] 9 Apiz HCONH: 20137
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189 | = A% HCOOH 519.4
190 e vy B C:H;0CHO 217.9
191 ek v ¥ % CsH:0CH-0H 1040
19255 3% 300({890
193|x & 1 5% Gell 0.2[0.63
194| A = fg OHC(CH:)sCHO 0.2]0. 82
195|254 10
196 |42 Hf 0.5
197 | & & CuoHCl7 0.5
198 & A& 4= CHs(CHz)sCHs 400(1, 640
19|~ & 7 = ki C1:CCC1CCICCI: 0.02{0. 21
200 & 7N - CsCls 0.01{0. 11
201 7 & C1sCCCls 119.7
202|x & & CuoHeCls 0.2
203 | & (3 pr CF5sCOCFs 0.1/0-68
204|- B FpaTEe = OCN(CH:)sNCO 0.005|0. 034
205 |+ & = CHs(CHz)«CHs 50(176
206 | e = B de CeHus 500]1, 760
207 e pa % = & fig CHsCOOCsHis 50(295
208|12—% H -2 4—~ - % (CHs)-COHCH: CHOHCHs 25121
209|781 & HBr 3(9.9
2101 i & HC1 5(7.5
211 |7 vz NH:NH: 0.1]0.13
21205 i & HCN 10|11
23| % v & HF 3|2.6
214135 v & H:0: 111.4
215 |f i & H:Se 0.05(0.16
216 [ Friv & HS 10(14
217 | & fiRL CeHs(OH): 2
218475 3 i £ (1 4FRS) In 0.1
219 | I: 0.11

220\ 7 a8 (11483) Fe(CO)s 0.1]0. 23
221§ Y45 (HE) FeO, Fes0: 10
222\ pa B Ny CHs;COO(CH2)2CH(CHs ). 100(532
223 | A (CHs)-CHCH.CH-OH 100361
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